Math 109 College Algebra Fall 2024
Lecturer: Calvin Hotchkiss TA: Samir Donmazov
Group Worksheet 6

Indicate which group member is taking on which of the following four roles. You will switch
roles on the next recitation day.

Reader: Reads the problem to the group and  Reader’s name:
makes sure everyone understands.

Spokesperson: presents the work and asks  Spokesperson’s name:
questions to the TA.

Recorder: writes everyone’s names and the Recorder’s name:
group’s work on the worksheet. '

Timekeeper: keeps track of time. Timekeeper’s name:

1. Find the slope of the line that passes through the points (—2,10) and (3, —5).

fj:th"’b wm= Jz - _=5-10 _ IS -3

A 7 Xg—X (- 5
slope @—M-kvccpi- 1 3-(-2)

2. Find the equation of the line that passes through the points (—2,10) and (3, —5).

y=10=-3-(-2)+b = =6+b Tpick
2 b=4 D| Yy=-3xt4

3. A landscaping company is studying how quickly their patented lawn seed mix grows
on a test lawn in April. Based on their measurements, the height of the grass t days
after March 31 is h(t) = 0.25¢ 4+ 3 inches.

(a) How much does the grass grow every day? so —he slepe Ww=0.25
Tnikally , at <0, k(o) = 0.25:0+3 =3 e 38 g ey
W) =0.25-4+3 =325 = h(1)-h(c)=3.25-3=025

(b) How tall was the grass on March 317

MOuraL\, 34 s 4-0: lq(o) —0,25.043 =3 ‘mcLeS

(c) If they want to mow the grass when it reaches 7 inches tall, when should they
mow?

h(4) = F =0.25t+3 = 027t =4 {=u>d%33

on Ppril 16




20 — 3 >1
4. Suppose f(z { N * and g(z) is given by the graph below right.

?+2 x<1
(a) What is g(f 3(—1) |0
£)= 24-3 = 2-3=-1

(b) What is f(g(8))? (0) =0%+2=2

=0

AT

(c) Solve g(x)=1. = X =0 /

/

[=)

(d) Identify the = and y intercepts of g(x). /

X -lmevcepts : X =—{ and x<=g%

fj- thkrczy’*" tj 4
5. Let f(x) = 32% —

(a) Find the z-intercept(s) of f(x).

= ox- -3
_[l(x):o Xy D X=—

(b) Find the y-intercept of f(z).

-F(D):Dz—r 2=2
6. Let g(x) = 571 Find g~ '(x)
X = - =) X (Q_H '4) = i
2y -4

S wy=A+ux > Y=Pp(x) =

2%

= 2xy - 4xX =4

{+ 4 X




